Trig 3.3

Graph polynomial, absolute value, and
radical inequalities

Solve absolute value inequalities

Determine solutions to inequalities .
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o Determine “hether(i —-4), % (1, ¥). and (— l 6) are solutions for the
inequality y = (x — 2)% - 3.
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Solve by graphing
Solve using algebra
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How is this problem different?
Where is one graph above/below the other?

O Solve |x — 2| -5 <4.
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Solve using a graph, solve using algebra

Methods are different, but answers will be the same.
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Graph each inequality.
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What is the difference between...






